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The frame in right figare is restrained by
a spring while supporting the 100 kg mass.
The gravity is g = 9.8/ m/sec’. What are

the reactions 4, A, at the joint point A

x?

and the magnitude of the force in the spring ¢
(12%)

For the beam shown in in the right find the

reactions A, 4, and B, aithe supports.

(12%)

A brake is applied to a spinning drum as
shown in the right figure. The kinetic
coefficient of friction is 0.2. What is
the friction force applied on the dram
at the contact point 7 If the drum stops
spinning in 10 revolutions, what work is
done on the drum?

(12%)

A 100-1b sphere sirikes a spring as illustrated

in the right figure. If the spring is compressed

by 0.25 t, how much potential energy is imparted
to the spring by the sphere. After impact the spring
stretches to its original position sending the sphere

up the frictionless chute. How far does the sphere rise?

Assume k=70001b/ i for the spring.  (14%)
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